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1. A 20 year endowment insurance to (50) pays a death benefit of 100,000 at the end of the year 

of death. 

 

You are given: 

a. Mortality follows the Standard Ultimate Life Table. 

b. 5%i    

c. Net premiums are determined using the equivalence principle. 

Determine the net premium reserve at the end of ten years. 

 

  



2. A whole life insurance policy on (70) pays a death benefit of 150,000 at the end of the year of 

death. 

 

You are given: 

a. Mortality follows the Standard Ultimate Life Table. 

b. 4%i    

c. 15 70,000.00nV    

d. 16 74,918.42nV   

Determine the net premium for this policy. 
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1. A 20 year term insurance to (40) pays a death benefit of 100,000 at the end of the year of death. 

 

You are given: 

a. Mortality follows the Standard Ultimate Life Table. 

b. 5%i    

c. Net premiums are determined using the equivalence principle. 

Determine the net premium reserve at the end of ten years. 

  



2. A whole life insurance policy on (80) pays a death benefit of 150,000 at the end of the year of 

death. 

 

You are given: 

a. Mortality follows the Standard Ultimate Life Table. 

b. 4%i    

c. 15 90,000gV    

d. The gross premium is 13,000.00. 

e. Commissions are 100% in the first year and 8% thereafter 

f. Issue Expenses are 1000 at the beginning of the first year. 

g. Maintenance expenses are 35 per policy at the beginning of every year including the 

first year. 

Determine 16 .gV  

 

 


